o A 20184 058¢ & 4 x
A ALXE A A Xt
Al AL 2018 05¥ =] g4 9«
S H o4 ( X S )
M7 HZ foIA (3%t 13
S ALY . FERI2BISEHIZE MM MY SAHZESA #2IMd| 2 M7 E0H-(3%H)
2 o= = M A & Hl 1
&3 AtH| W 351,750,000 W 365,400,000 =) 13,650,000
227N W 319,772,729 W 332,181,820 =) 12,409,091
T34 Sk M| W 31,977,271 W 33,218,180 =) 1,240,909
A W 351,750,000 W 365,400,000 =) 13,650,000
SAHA
% = H




T A A A
SAIE: 2 HIEBEHIZA MM MI|SAHZES Z2IiMdo| a2 MI|&2of) -3%t
g = H Sz
CIR= > g T 4
7|3 A AEFZ AL A 7| Z A 2B AL A 7| Z At LB AL SHA
A ¥ ™ 7 o 54,655,395 7,217,586 61,872,981 56,585,798 7,217,586 63,803,384 1,930,403 1,930,403
Wi
Bl 3 ™ =2 o4
H]
( = A ) 54,655,395 7,217,586 61,872,981 56,585,798 7,217,586 63,803,384 1,930,403 1,930,403
= A 2 d] 140,877,436 23,813,885 164,691,321 148,906,299 23,813,885 172,720,184 8,028,863 8,028,863
£
Rl CASs | £y 12,678,969 2,143,249 14,822,218 13,401,566 2,143,249 15,544,815 722,597 722, 597| (&Y RH|) * 9.0 %
= | Bl
( = A ) 153,556,405 25,957,134 179,513,539 162,307,865 25,957,134 188,264,999 8,751,460 8,751,460
7| A 4 Ell 103,584 2,212 105,796 103,584 2,212 105,796
=
PO I R - B3 5,681,586 960,413 6,641,999 6,005,391 6,005,391 323,805 -960,413 -636,608]( .= FH|) * 3.7 %
I 8 &2 8 = 1,213,095 205,061 1,418,156 1,282,232 1,282,232 69,137 -205,061 -135,924) (.= 2H]) * 0.79 %
At
d F E g = (BE FH[) *« 2.49 %
?Di
7z 2 8" = (AY cRH[) 1.7 %
]
oA StEH (HZ EHZE) = 6.55 %
H]
ok ™M 2 3,539,144 561,669 4,100,813 3,719,406 561,669 4,281,075 180,262 180,262 (RH Z2+Z ) = 1.81 %
g & F 3 H 3,240,181 3,240,181 2,406,600 2,406,600 -833,581 -833,581|( &N FH[) = 2.3 %
7| Ef 4 H 13,117,343 2,090,007 15,207,350 13,790,300 2,090,007 15,880,307 672,957 672,957/ (X 2+ F) * 6.3 %
( = A 26,894,933 3,819,362 30,714,295 27,307,513 2,653,888 29,961,401 412,580 -1,165,474 -752,894
I A 235,106,733 36,994,082 272,100,815 246,201,176 35,828,608 282,029,784 11,094,443 -1,165,474 9,928,969
o gt 2 2| H 14,106,403 2,219,644 16,326,047 14,772,070 2,149,716 16,921,786 665,667 -69,928 595,739 (M 2+ 2+ZH|) * 6 %
ol & 29,182,462 4,795,727 33,978,189 30,654,070 4,594,766 35,248,836 1,471,608 -200,961 1,270,647|( c E+Au|+L gtaa|d]) « 15 %
120 2:262,650 224 £:100,960 32 2:100,960
X~ o s =T , =10 s =1 B
M 7| = 613,736 613,736 613,736 613,736 425 210 540 5 -
i H bs| 2| H] -2,513,779 -118,543 -2,632,322 -2,518,779 -118,543 -2,632,322
( =3 L 7t ) 275,881,819 43,890,910 319,772,729 289,727,273 42 454 547 332,181,820 13,845,454 -1,436,363 12,409,091
=2 7t 7t x| Al 27,588,181 4,389,090 31,977,271 28,972,727 4,245,453 33,218,180 1,384,546 -143,637 1,240,909
( = AH ) 303,470,000 48,280,000 351,750,000 318,700,000 46,700,000 365,400,000 15,230,000 -1,580,000 13,650,000




JH4Mof mE MI|Eok) | 3Rt

M =] 2| Zu
s % e} 2 e} 2 e} 2o 7 sa
27 Mofl w2 M7|=of
o=l 52,520,482 52,520,482| 109,475.235| 109.475.235] 103,584 103,584 162,099,301 4494 431
53,167,283 53,167,283| 113,322,865 113,322,865 103,584 103,584| 166,593,732
e 2,134,913 2,134,913] 31,402,201 31,402,201 33,537,114 5. 464 835
3,418,515 3,418,515 35,583,434 35,583,434 39,001,949
7| AL 3,414,138 3,414,138| 17.403,493| 17,403,493 20,817,631 B
3,414,138 3,414,138| 17,403,493| 17,403,493 20,817,631
L I A A EAL 3,803,448 3,803,448  6.410,392] 6,410,392 2,212 2,212 10,216,052 B
ua 3,803,448 3,803,448]  6,410.392| 6,410,392 2,212 2,212 10,216,052
N A ) 61,872,981 164,691,321 105,796| 226,670,098 9. 950 266
ua 63,803,384 172,720,184 105,796| 236,629,364
ke o A ) 61,872,981 164,691,321 105,796 226,670,098 9950 266
ks 63,803,384 172,720,184 105,796] 236,629,364




22| Mojl 2 FMI7[Eof) ] 3kt

WL E] Zu
2 = o " A s
=2 2 =2 29 £t} ES.

1.M7[SAE
gx 1

1-1.1 Bl B AL )
#Hy 1
SE oo Mejzial Mu|mAl 1| 26.947.151] 26,947,151 76,287,571 76,287,571 103,234,722 B}
HE 1 26,947,151 26,947,151 76,287,571| 76,287,571 103,234,722
Chx
"= 1133 =2 MujzAl ! -
#HA 1
Chx

144 ME AumA 1 23,376,682 23,376,682| 24,376,669 24,376,669 103,584 103,584 47,856,935 4,494,431
ik 1 24,023,483 24,023,483 28,224 299| 28,224.299| 103,584 103,584 52,351,366
g 15 5 Mol Mu|=A} 1 2,196,649 2,196,649 8,810,995 8,810,995 11,007,644 _
#a 1 2,196,649 2,196,649] 8,810,995 8,810,995 11,007,644
Sa . A ) 1 52,520,482 109,475,235 103,584 162,099,301 4,494 431
Ha 1 53,167,283 113,322,865 103,584 166,593,732




HIF MY MISAZEHS z2ojMol we FMI[E0F) ] 3At

X ZH| 2| dd|
3 5 9 chel| 2 7 2ty
£t} Z £t} 2 et Z

2. ZLBAL
TE

2-1.1 HESA M8|BA} A -
B 24
LA ‘]
2= 20 5 CATY AMH|Z AL N 1 350,182 350,182]  9,488.669| 9,488,669 9,838,851 B
Hz 1 350,182 350,182]  9,488.669] 9,488,669 9,838,851
:%3’:_

23,3 COTV AE|Z AL 1 1,314,916 1,314,916] 18,117,861 18,117,861 19,432 777 5. 464,635
Hz 1 2,598,518 2.598.518] 22.299.094| 22.299.094 24,897,612
o ot 4w A ZAl 1 469 815 469,815  3,795.671| 3,795,671 4,265,486 B
Hz 1 469,815 469.815| 3,795,671 3,795,671 4,265,486
:%3’:_
— {255 AAAH M8|BAl A -
B 24
0o ‘]
g= 1

2-6.6 USIXf x| MH|SA} Al -
B 24
0o 1
g= 1

2-6.7 755 CCTV =At Al -
B 24
A S) 1
SR - A ) 1 2,134,913 31,402,201 33,537,114 5.464.835
Ha 1 3,418,515 35,583,434 39,001,949




22| Mojl 2 FMI7[Eof) ] 3kt

N =2H|
2 5 9 chel | 2 Al
= =M oy

3. J7[AutZAL
EFE
= 51 1 R SA SR Mu|Z2 AL Al 1 454,595 5,090,509 5,545,104
He 1 454,595 5,090,509 5,545,104
EFE
— 3-2.2 RES Mu|ZA} Al 1 1,817,867 9,839,604 11,657,471
He 1 1,817,867 9,839,604 11,657,471
T

3-3.3 Hol Mu|ZA} N !
B 24
—_—o 1
E}Z{_
— 3-4.4 SMEANRE Mu|BAL A 1,141,676 2,473,380 3,615,056
ke 1 1,141,676 2,473,380 3,615,056
== (g A ) Al 1 17,403,493 20,817,631
4 1 17,403,493 20.817.631




HIF MY MISAZEHS z2ojMol we FMI[E0F) ] 3At

2| 2| dd|
Z 3 9 chel| S A
=2 2 =2 29 et} 39
4. 7| H A BZAL
i PRI BV EN o 1,608,771 1,608, 771 1008
g 1 1,608,771 1,608,771 1.608.771
ohx P —— N 1 2,194,677 2.194.677|  6,410,392| 6,410,392 2,212 2,212 8,607,281
. —— o= o -

" 1 2,194 677 2.194.677]  6,410,392] 6,410,392 2,212 2,212 8,607,281
Chx

 43.3 MM A} Al

HA 1

SES (& A ) N 1 3,803,448 6,410,392 2,212 10,216,052
#Hy 1 3,803,448 6,410,392 2,212 10,216,052




oo SISEHTE M 2o Mof| wE MI|Eof) ]
M=z L F |
w2 A = w2 A H 2
= =29 = =29

I | SAF1-2.2
Ctx

CES ofol= 56 m 4.5 5,464 24,588 70,219 315,985 340,573 —
# 4.5 5,464 24,588 70,219 315,985 340,573
Ctx

CES ol = 54 mn 20 9,004 180,080|  119.372| 2,387,440 2,567,520 A 3915
# 20 9,004 180,080 119,372  2.387.440 2,567,520
Ctx

SE | axm . 26m 39 909 35,451 18,725 730,275 765,726 S
# 39 909 35,451 18,725 730,275 765,726

Fx
SZ lzojga weiniols 0.6/1kv F-CV 1C X 50mr ! 962 3,840 3,694,080 7,188 6,914,856 10,608,936 H 4255
# 962 3,840 3,694,080 7.188] 6,014,856 10,608,936
Chx

= lmajofzal choizole (0k2h) |0.6/1kv F-CV 2 X 10mr ! 22 2,079 45,738 7,835 172,370 218,108 H 4285
# 2 2,079 45.738 7.835 172,370 218,108
Chx

= lmajofzal choizole (0k2h) |0.6/1kv F-CV 4C X 6mrt ! 34.5 2,643 91,183 10,656 367,632 458,815 H 4313
# 34.5 2.643 91,183 10,656 367,632 458,815
Chx

= lmajofzal choizole (0kzh) |0.6/1kv F-CV 4C X 10mr ! 238.5 4,095 976,657 15,3571 3,662,644 4,639,301 H 4325
# 238.5 4,095 976,657 15,357| 3,662,644 4,639,301
Chx

92 | nigulumass(Fey)  (ok2h) |1omr ’ 243 1,047 254,421 2.632 639,576 893,097 A 4225
# 243 1,047 254,421 2.632 639,576 893,997
Chx

== _I3012 20| (OFZ}) |STRAIGHT, St WAOOX100HX2.3t | M 20 13,840 276,800, 87.774) 1.756.480 2,052,280 H 4075
# 20 13,840 276,800 87.774| 1,755,480 2,032,280

o

== Gilolz ezl (0K2H) |STRAIGHT,St W700x100Hx2.3t | M 4 17,754 7,016, 140,438 561,752 632,768 H 4085
# 4 17,754 71.016| 140,438 561,752 632,768

o

== ci=d #olgEaol (okzh) [DUCT, W 300 x H 200 1 5.9 18,416 108,654| 175,548 1,036,733 1,144,387 A 4133
# 5.9 18,416 108.654| 175,548 1,035,733 1,144,387

o

== 3olzEdolRsE (okzH) |H. ELBOW, St,W400x100Hx2.3t | 7H L 20,485 20,485 87,774 87,774 108,250 H 405
# 1 20,485 20,485 87,774 87.774 108,259

o

== blolgEdo|RsE (okzh) |H. TEE, St, WA00x100Hx2.3t | 7H 1 33.783 33.783 87774 87,774 121,567 H 413
# 1 33,783 33,783 87,774 87,774 121,557

o

S~ 3olzEdolRsE (okzh) |H. TEE, St, W700x100Hx2.3t | 7H L 48,150 48,1591 140,438 140,438 188,507 H 4125
# 1 48,159 48,150 140,438 140,438 188,597

o

2E | oizast - N 3 1,995 5,985 18,725 56.175 62,160 A 3605
[P 3 1,005 5,985 18,725 56.175 62,160

o

I - 150012t N 6 3,829 22.974 37,450 224,700 247 674 A 3615
(ke 6 3,829 22.974 37,450 224,700 247 674

Ch=x

2% | orme ol 150012t N 3 5,001 15,663 16,852 50,556 66,219 -
# 3 5,001 15,663 16,852 50,556 66,219

Ch=x

2% | orme ol 1600 ot N 2 6,583 13,166 37,450 74,900 88,066 —
# 2 6,583 13,166 37,450 74,900 88,066

o

CEal (0121) [RE A1 LieiEt 16 mr y 2 982 25 532 30,465 792,090 817,622 .
# 2 982 25.532 30,465 792,090 817,622
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of M2IfMol wE MI|E0}) ]

A [=]
L] 2| Zu|
72 Yy g # A gell 2y A o bl
et 2o £} 2o et | 3
Ctx
9E |orzern (ob2h) [RE=A Lpotat 25 mr o 12 1,221 14,652 37,236 446,832 461,484 Xl 4685
A 12 1,221 14,652 37,236 446 832 461,484
Cix
T P (oizh) [REEEM LI2t 35 mr 0 14 1,352 18,928 40,621 568,694 587,622 Al 4695
W 14 1,352 18,928 40,621 568,694 587,622
Cix
T P (oizh) |rer= s Liotat g5 0 4 2,155 8,620 56,418 225 672 234,292 x 4705
W 4 2,155 8,620 56,418 225 672 234,292
Cix
L P (o1zh) [REESM LIQIEE 185 mr 0 8 3,772 30,176 76,728 613,824 644,000 A 4
W 8 3,772 30,176 76,728 613,824 644000
Ctx _
SF lzua (ok24) |200%200 150 0 1 8,279 8,279 160,919 160,919 169,198 A 4025
M 1 8,279 8,279 160,919 160,919 169,198
Chx _
SF |omsn = (oz4) |oted = 36 mn " 21.5 526 11,309 17,554 377,411 388,720 A 5135
M 21.5 526 11,309 17,554 377,411 388,720
Ctx _
9E imMn = (ok2h) |otels 54 mm " 23 895 20,585 29,843 686,389 706,974 A 5155
H 23 895 20,585 29,843 686,389 706,974
Chx _
S JstMaxA JteMMT M (okzh) |oD-hetd 28m 1 39 168 6,552 5617 219,063 225,615 H 5975
g 39 168 6,552 5.617 219,063 225 615
Chx _
= _hzasslesMn M3 (okz) |54 mm Ygk-u|ua ! 358 2,864 11,987 95,496 98,360 H 4733
Mg 358 2,864 11,937 95,496 98,360
Chx _
= lzajofeal edsolz M (okzh) [0.6/1kv F-CV 20X 10mr ! 38 117 4,446 3,916 148,808 153,254 A 5795
M 38 117 4,446 3,916 148,808 153,254
Chx _
=T lzajojzal chotzol2 M (okzH |0.6/1kv F-CV 4CX 6m ! 34.5 159 5,485 5,827 183,781 189,266 A 5895
H 34.5 159 5,485 5,327 183,781 189,266
Chx _
== lmajofeal choiAol2 MM (okzh |0.6/1kv F-CV 4CX10m ! 246.5 230 56,695 7,677{ 1,892,380 1,949,075 A 5865
H 246.5 230 56,695 7.677| 1,892,380 1,949,075
Chx
CroiolE 271 0.6/1ky F-CV 40X 25mt 245.5 366 89,853 12,223| 3,000,746 3,090,599 ”
H 245.5 366 89,853 12,223| 3,000,746 3,090,599
Ctx _
== lmajofeal choiAol2 MM (okH |0.6/1kv F-CV 4C X 50m ! 10 525 5,250 17,520 175,200 180,450 A 5885
H 10 525 5,250 17,520 175,200 180,450
Chx _
ST IyxigslUHAMM(F-0v) ®A (0k2H) |10mr ! 266 26 6.916 876 233,016 239,932 H| 5563
g 266 26 6,916 876 233,016 239,932
Ctx _
= INMxiguU™ANM(F-6Y) HA (okzh) |16mr ! 238.5 30 7,155 1,023 243,965 251,140 H| 5595
g 238.5 30 7,155 1,023 243,985 251,140
Ctx _
= lmxiguYHARM(F-6Y) M (0Rb) [120m ! 21.5 48 1,032 1,608 34,572 35,604 H| 5585
A 21.5 48 1,032 1,608 34,572 35,604
Ctx _
—— |=Zajoeldl redzfol2 olA  (okzh) [0.6/1kv F-CV 1C X 185mr M 184 1,929 354,936 64,316 11,834,144 12,189,080 ® 570%
HA 184 1,929 354,936 64,316] 11,834,144 12,189,080
Ctx _
—— |=ajoelal redzol2 o|A  (okzH) 0.6/1kv F-CV 1C X 95mr M 92 1,268 116,656 42,281 3,889,852 4,006,508 ® 5725
Mg 92 1,268 116,656 42,281 3,889,852 4,006,508
Ctx _
—— |=ajoelal redzol2 ofA  (okzH) 0.6/1kv F-CV 1C X 50mf M 92 768 70,656 25,606 2,355,752 2,426,408 ® 571%
g 92 768 70,656 25,606 2,355,752 2,426,408
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2| Mol w2 MI|Eof) ]

A —_
WIEE! 2| ZH|
7z o 3 A = ool w2 A s 812
&bt 2o et 2o T EEE

Ctx

= lzojofe@ tedzjole olA  (okzh) [0.6/1kv F-CV 20X 35mr ! 161 853 137,333 28,4341 4.577.874 4.715,207 H 5753
[P 161 853 137,333 08.434| 4,577,874 4,715,207
Ctx

= lzojofe@ tedzjols olA  (okzh) [0.6/1kv F-CV 20X 25mr ! 138 710 97,980 23,6950  3.269,910 3,367,890 H 5743
[P 138 710 97,980 23,605 3,969,910 3,367,890
Ctx

= lzojofe@ edzjols olA  (okzh) [0.6/1kv F-CV 20X 16mr ! 115 544 62,560 18.165] 2,088,975 2,151,535 H 5733
[P 115 544 62,560 18,165| 2,088,975 2,151,535
Ctx

= lzojofe@ tedzjols olA  (okzh) [0.6/1kv F-CV 30X 10mr ! 64 778 49,792 25,9521 1,660,928 1,710,720 A 5763
[P 64 778 49,792 25.052| 1,660,928 1,710,720
Chx

= lzojofea edzjols olM  (okzh) [0.6/1kv F-CV 4CX 16mm ! 156 1,012 157,872 33,7371 5,262,972 5,420,844 H 5783
P 156 1,012 157,872 33,737|  5.962.972 5,420 844
Chx

= lzojofea edzlols olM  (okzh) [0.6/1kv F-CV 4CX 10mr ! 28 1,012 28,336 33,737 944,636 972,972 H 5773
P 28 1,012 28,336 33,737 944,636 972,972

Fx
SE | wgusima(Frre) old  (0Rh) [10x50m ! 100 127 72,700 24,2581 2.425.800 2,498,500 H 5485
P 100 727 72,700 04.258| 2,425 800 2,498,500
Chx

== I3jol=Eaol HA (0FZH) [STRAIGHT,St W400x100HX2.3t | M 19 1,316 25,004 43,887 833,853 858,857 H 5673
P 19 1,316 25,004 43,887 833,853 858,857
Chx

== I3ol=Eaol HA (0FZH) [STRAIGHT,St W700x100Hx2.3t | M 4 2,106 8,424 70,219 280,876 269,300 H 5683
P 4 2.106 8,424 70,219 280,876 289,300
Chx

== lo=s Aol2Eaol M7 (okz) |DUCT, W 300 x H 200 1 3.3 2,633 8,688 87,774 289,654 298,342 H 5243
i 3.3 2.633 8,688 87,774 289,654 208,342
o

= GlolzEdo| 24 E M (0FZH) |H. ELBOW, St,WA00x100Hx2.3t | 7H L 1,316 1,316 43,887 43,887 45,203 H| 5643
# 1 1,316 1,316 43,887 43,887 45,203
o

== GlolzEdo| 24 E M (0kzh) |V. ELBOW, St,W700x100Hx2.3t | 7H L 2,106 2,106 70,219 70,219 72,325 H 5653
i 1 2.106 2.106 70,219 70,219 72,325
o

CE3 M. (o12) |200 2005150 " ] 579 579 19,310 19,310 19,889 —
# 1 579 579 19,310 19,310 19,889
o

2E | . N 1 3,561,510 3.561,510| 148,240 148,240 3,709,750 A 3685
i 1 3,561,510 3,561,510] 148,240 148,240 3,709,750
o

2E | i N 1 3,561,510 3.561,510| 148,240 148,240 3,709,750 A 3695
i 1 3,561,510 3,561,510] 148,240 148,240 3,709,750
o

CE L3 N ] 1.463.618 1.463.618] 148,240 148,240 1,611,858 A 3745
# 1 1,463,618 1.463,618] 148,040 148,240 1,611,858
o

2E | Lo R 1 3,880,122 3,880,122 468,129 468,129 4,348,251 A 3705
w 1 3,880,122 3.880,122| 468,129 468,129 4,348,251
o

CEI LootA N ] 3,719,880 3.719.880| 468,129 468,129 4,188,009 S
w 1 3,719,880 3.719.880| 468,129 468,129 4,188,009
Cl=x

CL R N 1 650,918 650,018 148,240 148,240 799,158 S
w 1 650,918 650,018| 148,240 148,240 799,158
Ctx

CES Lo N 1 701,038 701,038] 148,240 148,240 849,078 A 3735
i 1 701,038 701,038] 148,240 148,240 849,078




T2 SIEHTE MR Mol 2 M7|20of) |

= T 2H
g = 43 — H - — i - A B2
ez P 1 293,901 293,901 102,988 102,988 396,889
H 1 293,901 293,901 102,988 102,988 396,889
ez P 1 820,592 820,592 148,240 148,240 968,832 |
H 1 820,592 820,592 148,240 148,240 968,832
ez P 1 706,008 706,008 148,240 148,240 854,248 |
HE 1 706,008 706,008 148,240 148,240 854,248
ez Py 1 7,702 7,702 256,739 256,739 264,441 |
H 1 7,702 7,702 256,739 256,739 264,441
ez P 1 7,702 7,702 256,739 256,739 264,441 |
HE 1 7,702 7,702 256,739 256,739 264,441
ez SR ) 1 7,702 7,702 256,739 256,739 264,441 |
HE 1 7,702 7,702 256,739 256,739 264,441
ez P 1 7,702 7,702 256,739 256,739 264,441 |
HE 1 7,702 7,702 256,739 256,739 264,441
ez P 1 7,702 7,702 256,739 256,739 264,441 |
HE 1 7,702 7,702 256,739 256,739 264,441
ez P 1 4,221 4,221 140,730 140,730 144,951 |
HE 1 4,221 4,221 140,730 140,730 144,951
ez P 1 5,933 5,933 197,784 197,784 203,717 |
HE 1 5,933 5,933 197,784 197,784 203,717
= O 1 2,545 2,545 84,848 84,848 87,393 |
HE 1 2,545 2,545 84,848 84,848 87,393
ez SR 1 5,933 5,933 197,784 197,784 203,717 |
HE 1 5,933 5,933 197,784 197,784 203,717
ez SR 1 5,933 5,933 197,784 197,784 203,717 |
HE 1 5,933 5,933 197,784 197,784 203,717
ez s xt o] 1 21,360 21,360 712,024 712,024 733,384 |
HE 1 21,360 21,360 712,024 712,024 733,384
ez arol A p 1 21,360 21,360 712,024 712,024 733,384 |
HE 1 21,360 21,360 712,024 712,024 733,384
ez arol A BEy 1 9,163 9,163 305,454 305,454 314,617 |
HE 1 9,163 9,163 305,454 305,454 314,617
ez arol A o= 1 21,360 21,360 712,024 712,024 733,384 |
HE 1 21,360 21,360 712,024 712,024 733,384
ez arol A Al 2E 1 6,793 6,793 226,457 226,457 233,250 |
HE 1 6,793 6,793 226,457 226,457 233,250
ez o] A 1 6,793 6,793 226 457 226,457 233,250 |
HE 1 6,793 6,793 226,457 226,457 233,250
ez A) 26,947 151 76,287,571 103,234,722
Ha 26,947,151 76,287,571 103,234,722




2o HISEHITN MXSAL (ZEE z2zofMof 2 MI|20}) ]
e oy 24|
7 o 3 A = ool w2 A s 812
et 2o et o @t | 29

7| SAF:1-4.4 S MH|ZAL

Fx
EE T (or2h) |otets 16 mn ’ 14 2,248 31,472 23,406 327,684 359,156 S
# 14 2.048 31,472 23,406 327,684 359,156

Fx
S92 | e moolgs HMm (02 |50m ’ 100 791 79,100 6,344 634,400 713,500 A 3945
# 100 791 79,100 6,344 634,400 713,500
LI (o121 |3ec y 75 898 67,350 9,139 685,425 752,775 S
# 75 898 67,350 9,139 685,425 752,775
Ctx

= 1ZFEH I A 36 mm U HF-H|hS M 317,977\ Al M 6615
# 14.8 1,046 28,800 19,539 289,177 317,077
Chx

= 152EM7teMM 28 mm 2 Hk-H|Eh M 297,542| Al M 6625
# 17.2 1,129 19,418 16,170 278,124 207,542
Chx

S~ HzasnrlemMn 22 mn 2 Hh-u| g 1 62,823| 217} M 6635
# 4.4 1,028 4,523 13,250 58,300 62,823
Chx

S~ HzasnrledMn 16 mm 2 h-t|uh 1 793,275| A7 ®| 6643
# 75 696 52,200 9,881 741,075 793,275
Chx

== 1acF #ol= 450v/750v (0k2h) [2.5sq(EHa) /26 ! 406.3 3.547 1,441,146 6,561 2,673,860 4,115,006 H 4343
# 406.3 3,547 1,441,146 6.581| 2,673,860 4,115,006
Chx

== acF #lol= 450v/750v 2. 5sq( B ) /3¢ ! 62.9 4,476 281,540 4,764 299,65 581,195 H 4363
# 62.9 4,476 281,540 4,764 209,655 581,195

o

== acF #lol= 450v/750v 2 5sq( EHM) /4c ! 9.5 5,723 523,654 6,519 556,488 1,120,142 H 4375
# 9.5 5,723 503,654 6,519 596,488 1,120,142

o

== Ixlojzlol= AWG22/4¢ 1 2,005,300| 417 X 6655
# 273.3 1,725 471,442 5.942| 1,603,048 2,095,390

Cl=x

S= lzajojma iAo 2 (42 SAl) 0.6/1kv F-CV 1C X 6mr ! 58 2,316 134,328 7.388 428,504 562,852 A 6295
# 58 2.316 134,308 7,388 428,504 562,832

Cl=x

== lzajojma iAo 2 (22 SAl) 0.6/1kv F-CV 1C X 6mr ! 2 1,169 33,901 3,911 113,419 147,320 A 6305
# 29 1,169 33,901 3,911 113,419 147,320

Cl=x

= lmajojzal oizols (0k2h) |0.6/1kv F-CV 4C X 6mri ! 105 2,643 277,515 10,6561 1,118,880 1,396,395 H 4315
# 105 2.643 277 515 10,656 1,118,880 1,396,395

o

== le00v ulY Z{EfoloiF 02 VCT, 441 1.25 mi M 115,606 217 Xl 666
[P 16.3 1,156 18,842 5,942 96.854 115,696

Fx

B2 | gl H e H A (F-gy) .- y 87 621 54,007 936 81,432 135,459 A 6315
[P 87 621 54,027 936 81,432 135,459

EES (ot28) laon » 19 162,833 3,093,827 78,411 1,489,809 4,583,636 —
# 19 162,833 3,003,827 78.411| 1,489,809 4,583,636

CES (024) |aomate = 5 y 3 149,426 448,278 65,244 195,732 644,010 .
# 3 149,426 448,278 65,244 195,732 644,010

2z | o eole (o120 han y 33 70,994 2.342 802 53.049| 1,757,217 4,100,019 I
# 33 70,994 2,342,802 53.049| 1,757,217 4,100,019
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CEx _
= 2MH™ ctezlolE (ob2t) [LED 16W(H| A=) A 4 183,484 733,936 43,887 175,548 909,484 H 6345
HA 4 183,484 733,936 43,887 175,548 909,484
Chx _
== _lafol 29 o] (0kzh) |JOINT BOX, 40 x 40 70 2 1,176 2.350 11,703 23,406 25,756 H 4063
HA 2 1,175 2,350 11,703 23,406 25,756
CEx _
= ELIES 200X 200 X 150 7 811,728| &l H| 6675
HA 8 6,447 51,576 95,019 760,152 811,728
Chx _
= ofeEa A (okz) |82+ 54mm o 60 1,551 93,060 35,109 2,106,540 2,199,600 H 3975
ip=} 60 1,551 93,060 35,109 2,106,540 2,199,600
Chx
= ofeEau A (ok2h) | =842t 54mm o 1 1,686 1,686 35,109 35,109 36,795 H 3085
Ha 1 1,686 1,686 35,109 35,109 36,795
Chx
S Ao x| A (okzh) [1 74 54 mn o 3 2,191 6,573 58,516 175,548 182,121 M 3995
Ha 3 2,191 6,573 58,516 175,548 182,121
Chx
= A9 x| BEA (okzh) |2 74 e 54 mn o 3 2,357 7,071 58,516 175,548 182,619 H 4005
Ha 3 2,357 7,071 58,516 175,548 182,619
Chx -
= of el A2 x| (0k2h) |250v 1217 o 4 1,743 6,972 24,868 99,472 106,444 N 4475
Ha 4 1,743 6,972 24,868 99,472 106,444
Chx _
S ofel A9 | (okzh) |osov 1207 7 3 2,142 6,426 24,868 74,604 81,030 H 4485
WA 3 2,142 6,426 24,868 74,604 81,030
Chx _
E SR BH olm 7| 3) (ok2h) |sUs=m, ohel. 400x650 o 1 173,157 173,157 277,951 277,951 451,108 H 4635
WA 1 173,157 173,157 277,951 277,951 451,108
Chx
S Mk = 14 196 2,744 6,564 91,896 94,640 |
WA 14 196 2,744 6,564 91,896 94,640
gx JUE— 23 289 6,647 9,654 222,042 228 689 |
Mz A

WA 23 289 6,647 9,654 222,042 228,689
Chx

ACF #1012 450V/750vE A 291.2 75 21,840 2,507 730,038 751,878 |
WA 291.2 75 21,840 2,507 730,038 751,878
Chx

ACF #1012 450V/750vE A 62 103 6,386 3,446 213,652 220,038 |
WA 62 103 6,386 3,446 213,652 220,038
Chx

ACF #1012 450V/750vE A 7.5 136 1,020 4,543 34,072 35,092 |
WA 7.5 136 1,020 4,543 34,072 35,092
Ctx
= ACE HOl 450V/750VE A 8.5 159 1,351 5,327 45,279 46,630 |
WA 8.5 159 1,351 5,327 45,279 46,630
Ctx
E Hs m=Ay oHel7H e FL 28w/2 15 816 12,240 27,209 408,135 420,375 |
WA 15 816 12,240 27,209 408,135 420,375
Ctx
oz Hus H 3 587 1,761 19,572 58,716 60,477 |
i<} 3 587 1,761 19,572 58,716 60,477
Ctx
S Hus H 20 371 7,420 12,375 247,500 254 920 |
i<} 20 371 7,420 12,375 247,500 254,920
Ctx
= HB=(cheato|s) M 718 1,436 23,961 47 922 49,358 |
HA 718 1,436 23,961 47,922 49,358
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orx N

== llep cheatole M7 (okzh) [LED 7W A 408 2,448 13,603 81,618 84,066 H 4923

# 6 408 2,448 13,603 81,618 84,066

=Y N

CEl N " 36 408 14,688 13,603 489,708 504,396 A 4935

# 36 408 14,688 13,603 489,708 504,396

=Y N

9 |yas o Corzt) [t 1750 " 6 19,354 116,124 645.139]  3.870,834 3,986,958 A 5295

# 6 19,354 116,124 645,130 _ 3.870.834 3,986,958

=y N

= Dl2sAE s ol o1t 10m-12m Al 4 13,016 52,064 131,111 524,444 25896 103,584 680,092 A 3595

# 4 13,016 52,064 131,111 524,444 25 896 103,584 680,092

ohx N

CE LED 1200 y 8 634,349 5,074,792 36,560 292,480 5,367,272 S

# 8 634,349 5,074,792 36,560 292,480 5,367,272

EES I E1ol2 HIN-O SI4S2 y 2 607,229 1,214,458 1,214,458

# 2 607,229 1,214,458 1,214,458

€2 | lzszzz 800x800x1000 7H 2 320,963 641,926 e

# 2 320,963 641,926 641,926

o N

CE R (o2b) |82t 5mm y 79 315 24.885 10,532 832,028 856,913 —

# 79 315 24885 10,532 832,028 856,913

= N

CE R (o2 a2t 5mm y 1 315 315 10,532 10,532 10,847 —

# 1 315 315 10,532 10,532 10,847

o N

22 |, oxjua w7 (ok2h) |1 12 50 mn y 4 526 2.104 17,554 70,216 72.320 A 5195

# 4 526 2.104 17,554 70,216 72,320

o _

=L PP CTONE Ph (0kzh) |2 742 54 mm A L 526 526 17,554 17,554 18.080 A 5505

# ] 526 526 17,554 17,554 18,080

o _

== lojeiaelx| M (okzh) |osov 1217 A 4 223 892 7,460 29,840 30,732 H 5275

# 4 223 892 7.460 29,840 30,732

o _

== lojeiaelx| M (okzh) |osov 1227 A 1 223 223 7,460 7,460 7,683 Al 5085

# 1 223 223 7.460 7,460 7.683

ohx _

CES P - y 6 287,684 1,726.104] 191,932 1,151,502 2.877.69 A 6025

# 6 287,684 1726104 191.932| 1,151,502 2 877,696

ohx _

22 | WoNO(LED-8AR) . y 30 56,609 1,698,270 45.006] 1,352,880 3,051,150 A 6035

# 30 56,609 1,698,270 45,006 1,352,880 3,051,150

ohx _

== 1IN0 SMPS DC-24V, 600W 7H L 281,927 261,927 281,927 H 60435

=P ] 281,927 281,927 281,927

oix _

== ISWD R.G.B((LED-BAR) DC-24v set 21 84,578 1,776,138 1,776,138 H 6055

fip<} 21 84,578 1,776,138 1,776,138

oix _

CES N ot 1 563,855 563,855 563,855 I

8 ] 563,855 563,855 563,855

= _

== 1R.6.B SWPS 600W set L 281,927 281,927 281,927 H 6075

8 ] 281,927 281,927 281,927

Ctx

2= | A 23,376,682 24,376,669 103,584]  47.856,935 4 494,431

8 24,023,483 28,224 299 103,584] 52,351,366




2o HISEHITN MXSAL (ZEE z2zofMof 2 MI|20}) ]
M=z L F | 4|
g ¥ 7 eel| s A s7o 82
e} 2o e} 2o @t | 3o

NI ZAE 1-5.5 Mo Au|ZA}
Ctx
CE3 I (o121) lotet= 16 mn y 7 2,389 169,619 28.087| 1,994,177 2,163,796 H 3863
# 7 2,389 169,619 28,087|  1,994.177 2.163.79
Ctx

ACF #lol2 450V/750v (ok2h) |asq(ErAl) /3¢ ! 296 6,040 1,787,840 6.89| 2,040,920 3,828,760 H 6125
# 296 6,040 1,787,840 6,805| 2,040,920 3.828.760
Ctx
L (okz) |onelmxie . 2s0v 27 » 54 1,768 95,472 23.406| 1,263,924 1,359,396 A 4505
# 54 1,768 95,472 23.406| 1,963,924 1,359,396
Ctx

210|230l (0k24) |JOINT BOX, 40 x 40 » 14 1,175 16,450 11,703 163,842 180,292 1 4065
# 14 1,175 16,450 11,703 163,842 180,292
Chx
22 | ecaua (o2 | =842t 54 . 15 1,686 25,290 35,109 526,635 551,925 I
# 15 1,686 25,290 35,109 526,635 551,925
Chx
CEl JURI okt |1 12 54 mn . 10 2.191 21,910 58,516 585,160 607,070 1 3005
# 10 2.191 21,910 58,516 585,160 607,070
Chx
CE HolZaWE 16 ¢ . 46 66 3,036 3,036
# 46 66 3,036 3,036
Chx
22 | a2 (o121) |ofets 16 mn ’ 75 196 14,700 6,564 492,300 507,000 | 5075
# 75 196 14,700 6,564 492,300 507,000
Chx
== ACF FHolZ 450v/750v EAH  (okzh) |dsq(EHA) /2 M 260.5 5 Slnd! Lo met 0l Bl A 4855
# 260.5 75 19,537 2.507 653,073 672,610
o=
22 | e mx (ok2h) |oHel-mxI® . 2507 27 . 18 210 3,780 7,021 126,378 130,158 A 5605
# 18 210 3,780 7,021 126,378 130,158
o=
== | JOINT BOX &7 (0kzh) |40 x 40 7H 13 105 1,365 3,510 45,630 46,995 H 4905
# 13 105 1,365 3,510 45,630 46,995
o=
22 | ecarua mo (o421 | =842t 54 . 12 315 3,780 10,532 126,384 130,164 —
# 12 315 3,780 10,532 126,384 130,164
o=
CE DU (ot |1 12 54 mn . 10 526 5,260 17,554 175,540 180,800 I
# 10 526 5,260 17,554 175,540 180,800
Ch=x
e ISP (okzh) |232IE ojeg 0 3 5,529 16,587| 184,325 552,975 569,562 A 6135
# 3 5,529 16,587| 184,325 552,975 569,562
ox
——ueiza g EE AN (02) [HFIX dmmi M 2L.9 249 12,023 —i - . A 4185
[P 21.9 549 12,023 2,925 64,057 76.080
ox
e
ox
e
ox
e
2= | A 2.196,649 8,810,995 11,007,644

=

# 2.196,649 8,810,995 11,007,644




T2 SSHIY MASA (2 H2I4Mof| e FMI|F2of) ]
L] w2 Z|
8 Y g 7 2 el 7 2 ul 2
£t} 2 e} 2 e | 39
SMSAL12-2.2 CATV MH|SAL
2F | Ed () (ok24) |otet = 16 mn " 241 2,389 57,574 28,087 676,896 734,470 Xl 3855
HE 24 .1 2,389 57,574 28,087 676,896 734,470
=2 umsasols (0F2b) & RtE|, 5C-HFBT M 88.1 556 s — L — A 4443
HE 88.1 556 48,983 7,661 674,934 723,917
ohx T (okzh) |1 56 ” 419.9 413 173,418 13,791 5,790,840 5,964,258 M 6145
HE 419.9 413 173,418 13,791 5,790,840 5,964,258
ST lnws saslolg ol (oR) [veT 120 ! 9.4 % 0.0 BSL1ALIS e M o1
g 49.4 735 36,309 24,517 1,211,139 1,247,448
kS LR HM T HH (okzh) ot = 16 mn y 33.6 196 6.585 6,564 220,550 227,135 H 5075
g 33.6 196 6,585 6.564 220,550 227,135
=E nuzssdolz 47 (0k2b) & RHH|, 5C-HFBT M 131.6 14 — s R mEnt A 5163
g 131.6 114 15,002 3,829 503,896 518,898
e Zoia =7 (okzh) |100%100% 100 7 1 541 541 18,051 18,0561 18,592 ® 5905
g 1 541 541 18,051 18,0561 18,592
S92 | nola (o12h) |y 2t - 1 11,770 11,770] 392,363 392,363 404,133 Xl 4965
ks 1 11,770 11,770] 392,363 392,363 404,133
o=
w3
g
w3
g
w3
g
w3
g
w3
g
w3
g
e
g
e
g
B
g
B
=ES (3 ) 350,182 9,488,669 9,838,851
Ha 350,182 9,488,669 9,838,851




T2 SSHIY MASA (2 H2I4Mof| e FMI|F2of) ]

=] 2|
72 Y g +3 A sz ul D
= 2 = 3
LEAE A} 12-3.3 CCTV AdH|ZA}
Ctx
2 | mdn(s) 151 2,389 360,739 28.087| 4,241,137 4,601,876 M 3865
A 151 2,389 360,739 28.087| 4,241,137 4,601,876
Ctx
= R MM E) 357,333 Ml 6685
A 19 2,202 42 218 16,585 315,115 357,333
Ctx B _
Dxa =2s0/= ECX CABLE, 5C-2V 957.5 694 664,505 7,661 7,335,407 7,999,912 X 4425
A 957.5 694 664,505 7,661 7,335,407 7,999,912
Ctx B _
kS ECX CABLE, 5C-2V 2,255,278 ® 6702
A 241 638 153,758 8,720| 2,101,520 2,255,278
Chx
CE T P, 8 782 6,256 12,873 102,984 109,240 Xl 3955
A 8 782 6,256 12,873 102,984 109,240
Chx
= lmajofzal choizole 0.6/1kv F-CV 3CX2.5m 67 1,362 91,254 5,954 398,918 490,172 H 4295
A 67 1,362 91,254 5,954 398,918 490,172
Chx
—— &30l HE|ZE 62.5/125 un 4c 2,298,702 ® 6715
A 239 2,401 573,839 7,217 1,724,863 2,298,702
Chx
CE N 2 11,769 23,538 193,103 386,206 409,744 Xl 4045
A 2 11,769 23,538 193,103 386,206 409,744
Chx
LT R 121 196 23,716 6,564 794,244 817,960 X 5075
A 121 196 23,716 6,564 794,244 817,960
Chx
9 o= sxs012 = ECX CABLE. 50-2V 969 114 110,466 3,829| 3,710,301 3,820,767 A 5175
bz 969 114 110,466 3,829| 3,710,301 3,820,767
Chx
= lzajolgal eizols M7 0.6/1kv F-CV 3CX2.5m 49.5 89 4,406 2,977 147,361 151,766 A 5835
bz 49.5 89 4,405 2,977 147,361 151,766
Chx
L P 1 541 541 18,051 18,051 18,592 Xl 5935
bz 1 541 541 18,051 18,051 18,592
Chx
CE IS 4 7,374 29,496 245 813 983,252 1,012,748 Xl 4865
bz 4 7,374 29,496 245 813 983,252 1,012,748
Chx
= CCTV AlAd IEIEN 553,522| Al ® 6695
bz 1 513,787 513,787 39,735 39,735 553,522
gz
EE
gz
EE
gz
EE
gz
EE
Chx
ot - A) 1,314,916 18,117,861 19,432,777 5. 464,835
A 2 598,518 22,299,094 24,897 612




02

rio
N

T
Mo
k!
|
024
[
i
ok
Rl

pAY=Yex |

2| Mol w2 MI|2of) ]

o 0
M=z L F | 4|
7 o 3 A = ool w2 A s 812
&bt o et o @t | 29

EAMNZAL12-4.4 BHES MH|ZA}
Ctx
CE3 I (o121) lotet= 16 mn y 58.5 2,380 139,756 28.087|  1.643.089 1,782,845 H 3863
# 58.5 2,380 139,756 28,087| 1,643,089 1,782,845
Ctx
= hzasnrledMa (okzH) |16 mm @ ub-t|ubz: M 12 782 9,384 12,873 154,476 163,860 H 3955
# 12 782 9,384 12,873 154,476 163,860
Ctx

ACF 7012 450v/750V (0k2h) [2.5sq(EHA) /26 ! 58.5 3.547 207,499 6,581 384,988 592,487 H 4343
# 58.5 3,547 207,499 6,581 384,988 502,487
Ctx
9% | ccmun (o120) |52t 54mm - 6 1,551 9,306 35,109 210,654 219,960 I
# 6 1,551 9,306 35,109 210,654 219,960
Chx
CEal (o2 |ATIZ(5.T), HEB(aN) . 6 12,237 73,422 63,849 383,004 456,516 1 4615
# 6 12,937 73,422 63,849 383,004 456,516
Chx
CL Il (o121) |ofets 16 mn ’ 57.5 196 11,270 6,564 377,430 388,700 | 5075
# 57.5 196 11,270 6,564 377,430 388,700
Chx
== ACF 702 450v/750v 7 (0kzh) |ACF I0IZ 450v/750v ! 115 9 1,270 3,289 378,235 389,506 H 4843
# 115 98 11,270 3,289 378,235 389,505
Chx
22 |oscimrat ofa (o2 |10p o 1 5,038 5,038 167,940 167,940 172,978 I
# 1 5.038 5,038 167,940 167,940 172,978
Chx
Gl P N . 5 574 2,870 19,153 95.765 98,635 S
W 5 574 2.870 19,153 95,765 98,635
9=
6
9=
6
9=
6
9=
6
9=
HA
9=
W
9=
W
9=
W
9=
W
gz [ 469,815 3,795,671 4,265,486

(& A )
# 469 815 3,795,671 4,265,486
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72 Yy g 7 = gell 2 57 Hl 2
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M7 ABEAN: 1311 AHESHHEX] Au| A}

=

gx 2R () (okzh |otei= 16 mn " 101.5 389 242483 28,087 2,850,830 3,093,313 3865
HZ 101.5 389 242483 28,087 2,850,830 3,093,313

Fx

gx B g B AN (4REA)  (0kZH) |HEIX 1 5mr " 45 089 49,005 9,947 447 615 496,620 6215
#Z 45 089 49,005 9,947 447 615 496,620

Fx

gx - (okzh) [HEIX 1 5mr " 36 555 19,980 5,266 189,576 209,556 —
HE 36 555 19,980 5,266 189,576 209,556

Fx

gx B g B AN H(2UEA)  (0kZH) |HEIX 2. 5mr " 20.5 766 15,703 5,266 107,953 123,656 6235
H 20.5 766 15,703 5 107,953 123,656

Ctx

== liioimlof#ol2 (0F2h) |F-CW-SB 2Cx1 . 5mit 1 2.5 1,440 29,520 5 107,932 137,452 H 4405
H 20.5 1,440 29,520 5 107,932 137,452

Fx

i PR (0k2h) |2 2xI7| ASHLEEY el - L S - 254,256 x| 455%
#Z 6 4,341 26,046 38 228,210 254,256

Ct=x

92 | xzx) (okzh) |et712tx17] B apm- v 25 | 2 19,141 38,282 38 76,070 114,352 X 4565
H 2 19,141 38,282 38 76,070 114,352

Ctx

= lesusagx (okzh) |1a, 250V =58 74 1 1,870 1,870 19 19,016 20,886 H 4495
ke 1 1,870 1,870 19 19,016 20,886

Fx

9= AR AT 2 (ok2H) |otei= 16 mn " 102 196 19,992 6 669,528 689,520 5075
ke 102 196 19,992 6 669,528 689,520

Cl=x

== 1300/500v Bl HAFM HH (0k2F) |HIV 1.38mm(1 . 5mr) M 251 2 6,526 219,876 226,402 H 4765
Ha 251 26 6,526 219,876 226,402

Cl=x

== 1300/500v LI HATM M7 (0kzH |HIV 1.78mm(2. 5mr) M 39 2 1,014 34,164 35,178 N 4775
Ha 39 26 1,014 34,164 35,178

=

== litoim|of7lole H7 (0F2H) |F-CVW-SB 2Cx1 . 5mit M 19.5 65 1,267 2 42,763 44,030 Al 5205
Ha 19.5 65 1,267 2 42,763 44,030

Cl=x

== _2tx|7| M7 (okzh) |AZX|7| AHSAATEH 7 4 342 1,368 i 45.636 47.004 H 506
Ha 4 342 1,368 11 45,636 47,004

Cl=x

== latx7| &= (okzh) @171 Zx|7| BEAlpE-u| X | 7} 4 342 1,368 i 45,636 47,004 H 5055
Ha 4 342 1,368 11 45,636 47,004

=

S= loz=weasx (okzh) |1A, 250V =& M ! 17 17 5, 5,704 5,875 H 5215
H 1 171 171 5, 5,704 5,875

g=x

EE

g=x

EE

gx

EE

EES - A ) 454 595 5,090,509 5,545,104

=
Ha 454 595 5,090,509 5,545,104




o

n

|}

o e FMI|Eof) ]

M=y =

Tz 3 w2 A S0 42
B £t 3o

71
gx ol 16 m 188.5 2,389 450,326]  28.087|  5.294.399 5,744,725 ”
v 188.5 2,389 450,326]  28.087|  5.294.399 5,744,725
gx — 35.5 552 19,596 11,703 415,456 435,052 ”
v 3.5 552 19,506 11,703 415,456 435,052
gx VX 2 5 115.5 766 88,473 5,266 608,223 696,696 ”
v 115.5 766 88,473 5,266 608,223 696,696
gx VXl 123.5 119 261,696 9.947| 1,208,454 1,490,150 ”
e 123.5 119 261,696 9.947| 1,208,454 1,490,150
gx VX d 53.5 072 57,352 5,266 281,731 339,083 »
TR 53.5 072 57,352 5,266 281,731 339,083
gx Sams gss 3 755 455.265| 58,516 175,548 630,813 »
TR 3 755 455.265| 58,516 175,548 630,813
gx Ha cioljoregos e 1 755 251,755| 58,516 58,516 310,271 »
TR 1 755 251,755| 58,516 58,516 310,271
gx smses(im) . 1 755 179.755| 58,516 58,516 238,271 »
TR 1 755 179.755| 58,516 58,516 238 271
gx . 3 686 5,05 35100 105,327 110,385 »
TR 3 686 5,05 35100 105,327 110,385
o= 621 5am 1 551 1,551 35,109 35,109 36,660 »
vz 1 551 1,551 35,109 35,109 36,660
gx olot= 16 m 127.5 196 24,990 6,564 836,910 861,900 »
vz 127.5 196 24,990 6,564 836,910 861,900
o= . 16m 30.5 105 3,202 3,510 107,055 110,257 »
vz 30.5 105 3,202 3,510 107,055 110,257
SE orsoov tiessigmetmal 254 (0k2) [HIV 1.78m(2. 5m) 231 26 6,006 876 202,356 208,362 A
vz 231 2% 6.006 876 202,356 208,362
S o750 sl Eet st B4 (0k2h) [HFIX 4 418 — — R A H
vz 413 2% 10,738 876 361,788 372,526
o= < x 4 526 2.104] 17,554 70,216 72,320 »
vz ° 4 526 2.104] 17,554 70,216 72,320
2%
wa
2%
wa
=
wa
gx | 1,817,867 9,839,604 11,667,471
v | 7 1,817,867 9,839,604 11,667,471
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X 2| =

7z o 7 = ool w2 A s

et 2o et 2o
M| BHBAL 34,4 B
CES LOX-FRLSS. 22D-1486 ; 48 15,995 767,760 22178 1,064,544 1,832,304
o 48 15,995 767,760 22178 1,064,544 1,832,304
SE | USPeNS 10N CLAWP ROOF TYPE 74 20 3,086 60,720 60,720
o 20 3,086 60,720 60,720
B2 | NECTOR(LOX 00) 20 y 2 110,410 220,820 13,675 27,350 248,170 |
o 2 110,410 220,820 13,675 27,350 248,170
CE STEEL. 500500150 o 1 61,002 61,002| 336,408 336,408 397,500 |
o 1 61,002 61,002 336,408 336,408 397,500
EES F ol 16 m ; 45 196 8,820 6,564 295,380 304,200 |
o 45 196 8,820 6,564 295,380 304,200
EES . LOX-FR-SS, 22D-1486 ; 45 199 8,956 6,653 299,385 308,340 |
o 45 199 8,956 6,653 299,385 308,340
EES STEEL. 500x500x150 y 1 5,046 5,046] 168,203 168,203 173,249 |
o 1 5.046 5,046] 168,203 168,203 173,249
EES Y y 1 8,463 8,463 282,110 282,110 290,573 |
o 1 8,463 8,463 282,110 282,110 290,573
o=
wa
g%
wa
2%
wa
2%
wa
2%
wa
2%
wa
=
e
2%
wa
2%
wa
=
wa
= (# A ) 1,141,676 2,473,380 3,615,056
Ha 1,141,676 2,473,380 3,615,056
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FHei2 of = M7|20k) ]
D] R ZHeo|
72 7 A el 7 sz ul 3
£t} 2o et 2o e | 2
1Al
gx HH 22 EFA R, SPP(EHE), n 23 5.195 119,485 119.485
Sk ®65m, == 23 5.195 119,485 119,485
gx HH 22 EFA R, SPP(EHEH), n 108 1,918 207.144 207,144
" ®25m, EHHIS 108 1,918 207,144 207,144
gx HH 22 EFA R, SPP(EHEH), n 11 2,461 27.071 27.071
g ®32mm, EHAIE 11 2461 27.071 27.071
gx HH 2t EFA R, SPP(EHE), n 3 2.828 8.484 8.484
B 24 ®40mm, BHNIS 3 2 808 8 484 8.484
gx HHZtE EFA R, SPP(EH ), 0 29 3.983 115,507 115,507
#y ®50mm, EHAIE 29 3,083 115,507 115,507
o 1
FM=ZHI2 3% Al 14,330 14,330 14,330
g 1 14,330 14,330 14,330
EES %8 3
Bwe(nown 1375025 0 1,748 171,304 4,637 454,426 625,730 NERTR
g 98 1,748 171.304 4,637 454 426 625.730
EES 10 3
Bwe(nown 1375032 0 2,081 20,810 5,457 54,570 75,380 M7 A 6385
g 10 2.081 20.810 5.457 54,570 75.380
o 3
Bwe(nown 1375040 0 2,601 7.803 6,369 19,107 26,910 M7 A 6395
g 3 2.601 7.803 6.369 19,107 26.910
=E3 27 B}
1375050 0 3,000 81,000 7,544 203,688 284,688 RERTRT
HY 27 3,000 81.000 7.544 203,688 284.688
=E3 21 )
197065 0 5,751 120,771 9,183 192,843 313.614 NERTR
HY 21 5.751 120,771 9.183 192.843 313.614
=£3 LIAFAIZBERI2t01S 2], © 9 49 868 42,532 42,532
ke 25, =2, LA 49 868 42,53 42,532
=£3 LIAFAIZBERI2t01S 2], © 9 3 1,299 3.897 3,897
ke S2mn, W=, LA 3 1.299 3.807 3.897
9= LIAFAIZ I 201 S 41, © I 1 1,549 1,549 1,549
ke A0mm, WA, LA i 1.549 1,549 1,549
gz LIAFAIZ I 201241, © I 4 2,423 9.692 9.692
ke S0m, &=, LA 4 2,423 9,602 9.692
9= LIAFA Z BRI 2012 2], © 5 30 1,198 35,940 35,940
ke 25m, S, LA 30 1.198 35,940 35.940
9= LIAFAIZ I Z0IS 4, o jH 7 1,611 11,277 11,277
ke S2m, SE, LA 7 1,611 11,277 11,277
g= LIAFAIZ I 201 S 41, © I 2 2.154 4,308 4,308
Hy A0mm, SHEI, LAA 2 2.154 4.308 4.308
g= LIAFAIZ I Z0IS 4, o jH 9 3,154 28.386 28,386
ke S0mm, SE, LA 9 3.154 28.386 28.386




ik}
o
N
il

o e FMI|Eof) ]

M =] 2| o
& T+ A cHe =3 A ek Sl
= FH =2 FH =24
S LIAFAIZZEHI20IS 2], © o 9 1,518 13,662 13,662
P2 32mm, SHelSs A, LEAF g 1.518 13.662 13.662
EES LIAFAI 2RI 20184, o M 3 1,804 5.412 5.412
e 40mm, SHelS A, LEAE 3 1.804 5.412 5.412
EES LIAFAI Z ZHRIZH01S 2, o M 18 792 14,256 14,256
e 25mm, RLIE, LHAb 18 792 14,256 14,256
EES LIAFAI 2RI 2001 S 21, © 5 9 1,018 9,162 9.162
#Z 32mm, LIS, LA 9 1,018 9.162 9.162
gx LIAFAIZ BRI 2H0I S 4], © 9 5 1,442 7.210 7.210
EE AOmm, HLIS, LEAH 5 1,442 7,210 7.210
gx LIAFAIZZETI2t01 2 2], ® 9 18 574 10.332 10.332
e 25mm, 4, LEAH 18 574 10,332 10,332
Chx _ 22
DHANZY(EE 52K)0 65 | EA 7.893 173.646 173,696
ke 22 7.893 173,646 173,646
chx 2
90 ° & 2 2 (GROOVED 10K) D 65 EA 8.154 16.308 16.308
ke 2 8.154 16,308 16,308
Ctx
= B E] 0] (GROOVED 10K) D 65x 65 EA 8 11.837 92,296 92,296
R 8 11,537 92,296 92,296
chx 2
84 3| S AF(GROOVED 10K)D 65x 50 | EA 5.725 11.450 11.450
Gl 2 5,725 11,450 11,450
EES 2
A28 X00, WH.C, ©50m | M 19,084 38,168 38,168
Gl 2 19,084 38.168 38.168
gx LYEHE, ATHBAUNE, 2 | 36 3,990 143,640 143,640
EEE cl#l 72 C #E RS 36 3,990 143,640 143,640
gx 150 EA 36 10,409 374,724 374,724
Gl 36 10,409 374,724 374,724
= 2 _
: ZaHT. ©50mm0.98WPa WA 4,688 9.376 11,344 22,688 18 32,082 A | 6405
Gl 2 4.688 9.376 11,344 22.688 18 32,082
gx 025 A 39 800 31,200 31,200 A5 H 6433
ke 39 800 31,200 31,200
=ES 4 -
s 032 Ha 817 3,268 3,268 AT A 6443
A 4 817 3,268 3,268
= 9 _
s 050 Ha 965 8,685 8,685 AT H 6455
A 9 965 8.685 8.685
= 7 _
s 065 Ha 999 6,993 6,993 AT A 6463
HA 7 999 6.993 6.993
=ES 4 -
QgEl(20iS 050, 2321E 150mn, & WA 867 3.468 28,900 115,600 176 704 119,772 N7 A 6475
el 4 867 3.468 28.900 115,600 176 704 119,772
= 5 _
0100, =321 150m, WA 1,203 6.015 40,118 200,590 298 1,490 208,095 A | 6485
el 5 1,203 6.015 40,118 200,590 298 1,490 208.095
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[ 2 22o4 Mol w2 M7|Eof | - L{th7t=A}
R 2 [
acs ¥ F T A che| A
= = 7t = =4

H 6615 1EFEMIEMY 36 mm I Hb-H|ghg 1,946 1,946 19,539 19,539 21,485|21
X 6625 1EFEMIRMM 28 mm i Hb-H| kg 1,129 1,129 16,170 16,170 17,299| 21 7F
M 6635 1ZEFEHIIRMM 22 mm_Hb-H| b= 1,028 1,028 13,250 13,250 14,278| 4l 3
X 6645 1EFZEHSEM 16 mm & Hh-H| 84 696 696 9,881 9,881 10,5774l F
X 6655 HojAolE AWG22/4C 1,725 1,725 5,942 5,942 7,667[21 T
X 6665 VCTHIOlE 1. 25mn/4C 1,156 1,156 5,942 5,942 7,098 Al
H 667% ke 200X 200 X 150 6,447 6,447 95,019 95,019 101,466| 21
X 6685 ZHAHM B (cE) Ol 16 mm 2,222 2,222 16,585 16,585 18,807| Al
M 6695 CCTV Al M 2008tst4 | 2MC-MD-2 513,787 513,787 39,735 39,735 553,522[ Al
H 6705 nFa SEHO0IE ECX CABLE, 5C-2V 638 638 8,720 8,720 9,358| Al
H 6715 ZAHolE HE|Z2E 62.5/125 um 4c 2,401 2,401 7,217 7,217 9,618| Al
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[ Zheted mr2ofMof w2 Mo 2ok ] - AQIthIlaE

5 g 7 A crel| s ik =7 A

et F & ot Eh

[ M 6655 ] MO{70lE AWG22/4C [M]
Hoj#HolE CVV-SB, 2Cx2.5mr M 1.05 1474 1547.7 1547.7
T 2 d] XNAHol EMS ol 0.0312 190461 5942.3 5942.3
[T & 8] L2Ho 3% 4 1 178 178 178
(= A ) 1725 5942 7667
[Hl 666=] VCTAHIOIE 1.25mr/4C []
VCT#H 0l & 1.25mr/4C 1.075 910 978.2 978.2
T 2 H] M0 ES ol 0.023 258382 5942.7 5942.7
[T & 8] L2H[o 3% A 1 178 178 178
(&t A ) 1156 5942 7098
[® 6675] Z8FA  200X200%150 [7H]
e 200 X 200 X 150 7 1 3597 3597 3597
T 2 H] HMMS 2l 0.55 172762 95019.1 95019.1
(s 2& 8] L2H[o 3 % 4 1 2850 2850 2850
(&t A ) 6447 95019 101466
[H 6685 ] ZHMMA(cE) OfAE 16 mm [M. ]
ZHEME(=E) Ol 16 mm M 1.1 1341 1475.1 1475.1
[ Hiat 2R ] Mo 15 % Al 1 221 221 221
[ &2 FXA ] MM, MMEe| 2 % 4 1 29 29 29
L 2 H] HMMS 2l 0.096 172762 16585. 1 16585.1
(s 2& 8] L2H[o 3 % 4 1 497 497 497
(st Al ) 2202 16585 18807
[® 6693 ]CCTV 200254 | 2MC-MD-2 [7H]
CCTV Al 2009+8kA | 2MC-MD-2 7 1 512595 512595 512595
L 2 d] WM™ 2l 0.23 172762 39735.2 39735.2
(8 F & 8 ] T 2H[o| 3% 4 1 1192 1192 1192
(= A ) 513787 39735 553522




[ 2t at2oi Mol w2 M| 2ok ] - S QthItE

¥ g 7 A chel| & A= = A
=¥ FH 2 = FH

[® 6705] DFu SEHOIE ECX CABLE, 50-2V [M]

nFa sFH0IE ECX CABLE, 5C-2V M 1.075 345 370.8 370.8
[ &2 TR ] M, MMEe| 2 % Al 1 7 7 7
L 2 d A0 ES ol [ 0.03375 258382 8720.3 8720.3
[T+ & 8] L2H[2 3% Al 1 261 261 261
(= A) 638 8720 9358
[H 6715 ] HAHOIE(SHE) SM 4c [M]

Aol HE[ZE 62.5/125 um 4c M 1.03 2081 2143.4 2143.4
[ &2 FXA ] MM, HMEe] 2 % A 1 42 42 42
L 2 o Yol EM XA ol | 0.01762 266727 4699.7 4699.7
L 2 o el ol | 0.02643 95264 2517.8 2517.8
[T & 8] L2H[o 3% A 1 216 216 216
(& A) 2401 7217 9618




[ Zetod m2oiMof we M7|&2ok | - ool MEZAH(2016E tEH| ol)
=g IJFME
¥ 3 + A chel = =ZH Sl
zasy | w3z | sty |[wem o | =4 |oz] =3
[H 6615] 1EFEMIIM M 36 nn U eh-H| g [M.]
1IZEFEHItedd 36 mm 2 Hb-H| gt M 1 0 1 10[HMME 0.1131] 100 0.1131|X 7|51 0.087+«@130%( M & %)
= 2 4 HWHHS ol 0.1131 100 0.1131
[H 6625 ] 1EFEMIIM M 28 nn U gh-H| b [M.]
1IZEFEHItedd 28 mm 2 Hk-H| gt M 1 0 1 10|UHMMS 0.0936| 100 0.0936| % 7| 5-1 0.072«@130%( M &)
E Ll WMxag ol 0.0936 100 0.0936
[H 6635 ] 1EFEMIIMME 22 nn U gh-H| b [M.]
1IZEFEHItedd 22 mm Y Hh-H| g M 1 0 1 10|UHMMS 0.0767| 100 0.0767|%7|5-1 0.059+«@130%( M & %)
L 2 d WMxa ol 0.0767 100 0.0767
[H 6645 ] 1ZEFEHMIILMME 16 nn U Eh-H| b= [M. ]
1EZ2EHzIeE M 16 mn 2 Hk-H| g M 1 0 1 10|UHAMHS 0.0572] 100 0.0572| % 7|5-1 0.044+«@130%( HH %)
L 2 d Wuxag ol 0.0572 100 0.0572
[ M 6655 ] MO{AHIOIE AWG22/4C [M]
Hoj#Hol= AWG22/4C M 1 0 1 s|MetAHOIETF 0.0312[ 100 0.0312|&7(5-13 0.026+®)120%( & =)
L 24 MetAolETE ol 0.0312 100 0.0312
[ M 666= ] vCTZIOlE 1.25mi/4C []
veT#H ol g 1.25mi/4C 1.075 0.075 1| 7.5|8A7AH0ES 0.023| 100 0.023|5413-1-26 _ [0.023
L 2 d S4lH0IES ol 0.023 100 0.023
[ M 6675 ] E8rA 200x200x 150 [7H]
i 200X 200 X 150 7H 1 0 1 WMES 0.55| 100 0.55|%7|5-4 0.55
= 7o HMHS ol 0.55 100 0.55
[ M 6685 ] ZHMMA(LcE) OIAZ 16 mm [M.]
ZHMM (L E) ofeiT 16 mm M 1 0 1 10|HAMHS 0.10| 100 0.096|%7|5-1 0.08+125%( = &)
= 2 d WMES l 0.096 100 0.096
[H 6693 ]CCTV 2002+st4 |, 2MC-MD-2 [7H]
CCTV AlA 2002+st4 | 2MC-MD-2 7H 1 0 1 WM 0.23 100 0.23[XM7| 5-47
= 2 d WMES l 0.23 100 0.23
[ ® 6705 ] nFa} SE70|E ECX CABLE, 5C-2V [M]
IFa SEs0lE ECX CABLE, 5C-2V M 1 0 1 SlH0lES 0.018| 187.5|  0.03375[5415-3-1(1) |0.018+125%( Z &) «150%( ‘= &)
& 2 d SalH0lES ol 0.03375 100 0.03375
[ M 6715 ] & #HolE HEIZE 62.5/125 um 4c[M]
ol HE|2 = 62.5/125 um 4c M 1 0 1 3| ZH Ol EM XA 0.0094| 187.5| 0.017625/5A14-1-1 0.94/100%125%( Z &) *150%( = &)
1 0 1 JREQL 0.0141| 187.5| 0.0264375|5 A14-1-1 1.41/100%125%( & &) x150%( = &)

& 2 H] LA Ol S M X| AL ol 0.017625 100 0.017625
L 7 2sof 2l 0.0264375 100|  0.0264375




[ 2ol ar2oiMoll e M7|&20k | - St A (1/6EH74:2018' 419 )

T 4 2 o) x.::‘ioié;% - Al et} 7Hefot EE EAR = #es=7t 4D
M8t et} et} PAGE et} PAGE et} PAGE et} PAGE
15Nz 36 mm ol Hi-H|db=- M 1,058 1,220 1,220 2,360] 993 1,600 IE{St
1ZSaEAzIeMa 28 mm 2 Yt-H|gr M 501 578 578 1,650 993 1,100 2lE{Lt
15N 22 mm_Yt-H|gr M 491 567 567 1,400 993 760] IE{4l
1EFEMILHELH 16 mm 2 gh-H| g M 312 360 360 1,200[ 993 480| 2lE{ 4l
nFu sEAH0lE ECX CABLE, 5C-2V M 345 398 398 685 976 660| 697
MojAH ol = AWG22/4C M 1,474 1,700 2,300] 974 2,300 705 1,700] 2IE{ 4l
VCT#HIolE 1. 25mni/4C M 910 1,050 1,050 962 1,097| 689
ol HE|BE 62.5/125 um 4c M 2,081 2,400 2,400] 938 3,240| 759 2,400| 1091
e 200 X 200 X 150 7H 3,597 4,147 4,147 5,247 995 6,070 738
ZH M Ot 16 mm M 1,341 1,547 1,547 1,761] 99 2171 725
=7t a2t (2008t5t4) 2MC-MD-2 EA 512,595 590,909 590,909
& F 4 HMMS 2l 172,762 199,157
L 2 oH| MetAHCIENMSE 2l 190,461 219,560
L 24| StAOIES 258,382 297,858
L 2 oH| HAH Ol SM XAt 2l 266,727 307,477
L 2 oH| 2sol7 2l 95,264 109,819




DA LHHAM 1

Aol = (Et71:4,511)

& A 3}

—

(2t71:200)

s % @ = = = = =2 = = & o

1. 82[ AL
1-1.1 Sl Z AL kg TELAEM
1-2.2 MHZH MH| DA} kg 285.63 -4,511| -1,288,472 142.41 -200 -28,481  -1,316,953| = 2HHEA
1-3.3 =2 HH[JA} kg TEMEM
1-4.4 M5 MH|ZAL kg 26.91 -4,511]  -121,386 46.35 -200 -9,270 -130,656| T EAHEA
1-5.5 Mo Mu|Z A} kg 25.01 -4,511]  -112,811 79.50 -200 -15,900 -128, 711 | 2ALE A
2. 84S A
2-1.1 M EEA MH[ZA} TEAMEM
2-2.2 CATV AH|ZA} 35.62 -200 -7,123 “7 23| T EMEN
2-3.3 CCTV AdH|ZAL 2.97 -4,511 -13,397 128.26 -200 -25,652 -39,049| T2 EAN
2-4.4 9E MH| A} 4.60 -4,511 -20,750 60.95 -200 -12,190 -32,940[ A EM
2-5.5 AAZE MH|SAL TEMEM
2-6.6 USRI ZIX| MH|S A} TEHMEM
2-6.6 7= CCTV SAL

| 345.12 -1,556,816 493.08 -98.616]  -1,655,432
3. MI| AT AL
1-1.1 XSS EX| MH[ZA} 3.79 -4 .51 -17,105 7.584 -200 -1,516 -18,621[ T2 EAM
1-2.2 RES AH[ZA 17.84 -4 .51 -80,458 35.67 -200 -7,134 -87,592[ A EAM
1-3.3 M o1 MH|[ZA} TEHLEM
1-4.4 PMEME T AMu|ZA} 61.65 -200 -12,330 -12,330[ T MEM

2 A 21.63 -97.563 104.91 -20,980 -118,543
(8t A1) 366.74 -4,511| -1,654,379 597.99 -200f -119,596| -1,773,975




DA LHHAM 2

2y T5 =8 4o
HAHMEAM HA(m) HIS (kg/m*) | TZHKG) = =

L MAT 2IB [0.751.4%240.7%0.2%2+1.4%0.252 2.80 7.85 21.98 ~4511|  -99,151
BUS BAR |0.75%4+0.15%16 5.40 8.96 48.384 -200 9,676
L MopD 2IB [0.751.4%240.7%0.2%2+1.4%0.22 2.80 7.85 21.98 ~4511|  -99,151
BUS BAR |0.75%4+0.15%16 5.40 8.96 48.384 -200 9,676
L M-A3 2l2 [0.7%0.8%2+0.7%0.2+0.8%0.22 1.58 7.85|  12.403 ~4511|  -55,949
BUS BAR [0.4x4+0.15%18 4.30 8.96 38.528 -200 ~7,705
LPA I 0.7%1.7%0+0.7%0.242+1 750 . 2%2 3.34 7.85 26.219 -4511|  -118,273
BUS BAR [0.85%4+0.15%35 8.65 8.96 77.504 -200] 15,500
gHET 2l2 [0.7%0.8%2+0.7%0.2%2+0.8%0.252 1.72 7.85 13.502 -4511|  -60,907
=81 BUS BAR . 4+4+0.15+6 2.5 8.96 22.4 -200 4,480
Ao 2I2 [0.7%0.8%2+0.7%0.2%2+0.8%0.252 1.72 7.85 13.502 -4511|  -60,907
BUS BAR [0.4x4+0.15+8 2.8 8.96 25.088 -200 5,017
LP-EA 2I2 [0.7%1.8%240.7%0.2%2+1.8%0.2%2 3.52 7.85|  27.632 —4511|  -124,647
BUS BAR [0.9%4+0.15%24+0.9%4+0.15%12 12.6 8.96| 112.896 -200|  -22,579
Ml 2l2 [0.6%0.3%2+0.6%0.2%2+0.3%0.252 0.72 7.85 5.652 —4511]  -25,496
=81 8US BAR |9 542 0.6 8.96 5.376 -200 -1,075
527 2I2 [0.7%0.8%2+0.7%0.2%2+0.8%0.252 1.72 7.85 13.502 -4511  -60,907
=81 8US BAR |9 4+4+0.15+10 3.1 8.96 27.776 -200 5,555
N 2l2 [0.6%1.0%2+0.6%0.2%2+1%0.2%2 1.84 7.85 14.444 -4511| 65,156
77 [ BusBar 0.5%4+0.15%11 3.65 8.96 32.704 -200 -6,540
(8t A 2) 70.76 168.10 609.86 -858,347
(BHA1+EA 12) -2,632,322

Of

Al




